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#include<stdio.h>
#include<stdlib.h>
#define _NTRADER 100
#define tradetime 1000000

int main()
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FILE *fp;

int i,imin,j, jmax,Nsell,flag[_NTRADER];

float P_sell[_NTRADER/2],P_sellmin,P_buy[_NTRADER/2],P_buymax;
float c,Indivi,Supec,time;

float Delta_s[_NTRADER/2] ,Delta_b[_NTRADER/2];

float a[_NTRADER/2],b[_NTRADER/2];

float Adjust,Delta,I_s[_NTRADER/2],I_b[_NTRADER/2];

float X,Y,Price,K,L,k;

printf ("The tradetime: %d\n",tradetime);
printf ("The number of traders: %d\n",_NTRADER);

printf (" c=(0.170.3)" ); scanf("%f",&c);
printf (" sphere of individuality(0~1) " );
scanf ("%f" ,&Indivi);

printf (" sphere of specuration(0™1) " );

scanf ("%f" ,&Supec) ;

/¥ 000000000 =/

for(i=0;i<_NTRADER/2;i++) /* Sellers 1000 120 */
{
P_sell[i]=((float)rand() /RAND_MAX)*20.0+100.0;
}

for(j=0; j<_NTRADER/2; j++)  /* Buyesrs 800U 100x*/
{
P_buy[jl=((float)rand () /RAND_MAX)*20.0+80.0;
}

/* 000000000 =/
for(i=0;i<_NTRADER/2;i++) /* Sellers */
{
I_s[i]l=((float)rand () /RAND_MAX) *Indivi;
}
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for(j=0; j<_NTRADER/2; j++) /* Buyesrs */
{
I_b[jl=((float)rand() /RAND_MAX)*Indivi;
}

fp = fopen("price.dat","w");

X=100;
Y=100;

/ 00000000 =/
for(time=0;time<tradetime;time++)
{
/+ 00000000 =/
for(i=0;i<_NTRADER/2;i++) /* Seller */
{
ali]l=((float)rand() /RAND_MAX) *Supec;
}
for(j=0; j<_NTRADER/2; j++) /* Buyesrs x/
{
b[jl=((float)rand() /RAND_MAX) *Supec;
}

/ 00000000000000040 =/
P_sellmin=P_sell[0]; /* Seller */
imin=0;
for(i=0;i<_NTRADER/2;i++)
{
if (P_sellmin>P_selll[i])
{
P_sellmin=P_sell[i];

imin=i;
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P_buymax=P_buy [0] ; /* Buyer */

jmax=0;

for(j=0; j<_NTRADER/2; j++)

{
if (P_buymax<P_buyl[j])
{

P_buymax=P_buy[j];
jmax=j;

/¥ 000000 =/
if ((P_sellmin-P_buymax)*(P_sellmin-P_buymax)<4)
{
Price =(P_sellmin+P_buymax)/2;

fprintf (fp,"%1f\n",Price);
k=0;

Y=X;
X=Price;

/*P_sellmin<P_buymax 0O OOOOOOO %/
if (P_sellmin<P_buymax)

Adjust = -1;

b

else
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Adjust = 1;
+
/ 00 0O000oooooooooooobobooo =/
K
L

I_s[imin];
I_b[jmax];

I_s[imin]=L;
I_b[jmax]=K;

/* DeltadO 0O OO =%/

P_sell[imin]=P_buymax+((float)rand()/RAND_MAX)*20;
P_buy[jmax]=P_sellmin-((float)rand () /RAND_MAX)*20;

/ 0000000000 =/
for(i=0;i<_NTRADER/2;i++) /* Seller */
{
P_sell[i]+=(-(Adjust)*(ali]l)-I_s[i]+(c+k)*(X-Y));
}

for(j=0; j<_NTRADER/2; j++)  /* Buyer */
{
P_buy [j]+=(+(Adjust)*(b[jI)+I_b[jl+(c+k)*(X-Y));
}

fclose(fp);
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A2 0O0O0O0O0OO

#include<stdio.h>
#include<math.h>
#define Ndata 922336 /x DO OOO0OODO =/

int main()

FILE *fp,*Somega_out;

int t,Iomega;

float f[Ndata],omega,Freal,Fimag,PI=2*asin(1.0);
float DeltaOmega=2.0*PI/Ndata,Somega;

if ((fp = fopen("price.dat","r")) == NULL)

{
printf ("ERORR no data !'\n");
exit(1);
}
for(t=0; t<Ndata; t++) /* input */
{
fscanf( fp , "%f" , &f[t] );
}
fclose(fp);

Somega_out=fopen("Somega.dat","w") ;
for (Iomega=0;Iomega<100000;Iomega++) {
omega=Iomega*Deltalmega;
Freal=0.0;

Fimag=0.0;
for(t=0; t<Ndata; t++)
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Freal += ( f[t] * cos( omega * t ) ) ;
Fimag += ( f[t] * sin( omega * t ) ) ;
}

Freal/=Ndata;
Fimag/=Ndata;
Somega= (FrealxFreal)+(Fimag+*Fimag) ;

fprintf (Somega_out,"%f %e\n" , omega ,Somega);

fclose(Somega_out);
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B.6 O00O0O0O0O0O0O0O

#include<stdio.h>
#include<stdlib.h>
#tdefine _NTRADER 100

int main()

{

FILE *fp;

int i,imax,Nsell,flag[_NTRADER];

float B[_NTRADER] ,Bmax,Delta[_NTRADER],a[_NTRADER],price;

printf ("The number of traders: %d\n",_NTRADER);

for(i=0;i<_NTRADER;i++) /x 0000000 (800120) =/
{
B[i]=((float)rand () /RAND_MAX)*40.0+60.0;
}

fp = fopen("marketprice.dat","w");

for(price=0;price<10000;price++) /x OO OO ODOOO */
{

for(i=0;i<_NTRADER;i++) /* 00000000 =/
{
alil=((float)rand () /RAND_MAX)*5.0-2.5;
}
Bmax=B[0] ;
imax=0;
for(i=0;i<_NTRADER;i++) /¥ 000 Bmax) OOO  *x/
{
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if (Bmax<B[i])
{
Bmax=B[i];

imax=i;

fprintf (fp,"%f\n",Bmax) ; /* output */

Nsell=0;
for(i=0;i<_NTRADER;i++) /0000000 Nsell OOOx/
{
if (B[i]+5<=Bmax)
{
flaglil=1;
Nsell++;

Deltal[imax]=-5.0;

for(i=0; i<_NTRADER;i++) /* Delta OO */
{
if (flagli]l==1)
{
Delta[i]=+5.0/Nsell;
}
else if (i != imax)
{
Delta[i]=0.0;
}
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for(i=0;i<_NTRADER;i++) / 0000000000 *x/
{
B[i]+=(Deltal[il+ali]);
}
}
fclose(fp);
}
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